OWNER’S
MANUAL

Hug It Straight Ahead RECLINED

While using your LEVO with a chair, you can position the Another way to position your LEVO is directly in front of your
base to hug the corner. That’s why our base is shaped like chair. The base makes a nice foot rest. Plus, you can control

an hourglass. the position of your laptop with youeet.. eIIy. Gie:,- it a try. | T : ! | 1 _ - | : . " | - - .. G 2 Del uxe
~_ Laptop
Workstation-
#33761

el ]

ann

Let us know how
Sit to Stand _— \ oo you use your LEVO.

If you like sit to stand, your new LEVO can help. You can use the

quick lever height locks to go from sit to stand, and back again. & il J . Send u s an em ai I to
' sales@LEVOstore.com

DUAL CLAMP
PLATFORM e TABLET CRADLE

If your LEVO is for tablets, ; _ AR If your LEVO is for books,
you can add this Book | _ you can add this Dual Clamp
Platform to read books. . to hold your tablets.

L 6

MTM INC., U.S.A. U.S. PATENT NO. 7,040,591 OTHER PATENTS PENDING MADE IN CHINA




LevoQ Rolling Laptop Workstation Plus - 33761

0069
0044
0042e——o
0041 e
0040
0072 4 o
0068 —o =
0067 e—o =
0073 &—
0066 &—e l
r
PART#DESCRIPTION 0047 Laptop Safety Cord
0001 Tension Dial 0066 M16 Hex Bolt
0002 Tension Ram 0067 M16 Lock Washer
0040 Hourglass Base 0068 M16 Washer
0041 Cover for Hourglass Base ~ 0069 Horizontal Arm
0042 Triple Column 0071 Caster - 11mm Stem
0044 Laptop Platform 0072 M16 Hex Wrench
0045 Laptop Bracket Screw

0071 X4

PUSH all four 0071 into the
receptacles in 0040. This step may
have been done in our factory.

N\

=8 Y

N\

J

Push 0069 down onto
the top of 0042.

Qggg

~

Align the protrusions on the \
bottom of 0002 with the grooves

Insert the shaft of 0044
into the end of 0069. Be

.

Align the protrusion

on the bottom of 0042

with the groove on top of
0040. It's best to lay 0040 on its
side first.

N\

on top of 0042. Press 0002 in place
and spin slowly until it sinks into
place and is no longer able to spin.

sure the hole on the shaft is
facing up. Next, spin 0045 through
the hole in 0043 and into 0044.
This time use a screwdriver to
tighten 0045 very tightly.

Carefully tilt the
assembly on its side.
While holding 0066 in
your hand, slide 0067 then
0068 onto it. Insert 0066
through the center hole in
0040 and into the bottom of
0042. Tighten 0066 with 0072

KuntiI very tight.

Use a coin to spin 0001 into 0069.

DO NOT USE A SCREWDRIVER as it

will damage 0001. Only tighten until
snug.

Using Your Workstation

Your height locks have adjustable tension that
is set in our factory. If they loosen a bit over
time, you can easily adjust them. When
properly adjusted, the upper section
should not drop into the lower section
when the locks are closed. To adjust

them, first remove your tablet. Second,
open the Height Lock. Third, rotate the
screw only 1/8 of a turn clockwise to
tighten or counterclockwise to loosen. If
needed, repeat the process.

-

/Using the Safety Cord A
It's important to use the Safety Cord
as extra security for your laptop.
Next, stretch the Safety Cord and insert the
o remaining end into the hole in the top right corner
First, insert one gnd of of the Platform. To secure your laptop, open it and
the Safety Cord into slide it down and under the Safety Cord. Small
the hole at the top left laptops will hang by the Safety Cord, while large
of the Platform. laptops will reach the Adjustable Rests. Adjust the
Rests’ height by rotating them into one of three
Y heights. )
[Fine Tuning

/Micro Adjustment Knob

To keep your Platform level
left to right, we added a Micro
Adjustment. Tighten or loosen
the knob to adjust the force
required to move the Micro
Adjustment. Some users like it
tight while others like it a bit
loose.




